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Negative Tone

Posltive Tone

“You are really struggling with this.
What are you going to do about
it?"”

“You will get it. Let’s talk about what could come
next in your learning. What do you think your next
step should be?”

“You missed five problems.”

“You have done well with factoring the
expressions. Now focus on polynomials where
your leading coefficient is greater than one.”

“The claim for your paper is weak."

“Here are some guidelines to follow when writing a
claim statement. Take a look at yours and see how
it could be improved.”

“The student isn't able to do it.”

“The student isn’t able to do it yet."

From a student: “l don't get it.”

Teacher response: “OK, tell me what you do
understand, and we will go from there.”
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Teacher Internal

Questions Possible Actions

“What are my learners’ Hearing “Why is this important?” or “I'm not sure what
needs at this moment, to do next,” or seeing body language that communicates
and what can | do disengagement (head down), means students need

for them?” feedback that clarifies the learning’s purpose and how the

practice supports that purpose. On the other hand, hearing
students say “I'm done; can | do whatever | want?” means
they might need a tougher challenge.

“When should I interject | Immediate feedback is warranted when students have
to provide feedback?” reached a clear stopping point and do not know how to
move forward, or a student is starting to repeat a mistake.

“Can my learners Students who are highly intrinsically motivated can work
persevere through this through challenges more easily than those who aren't. If a
struggle, or do they need | student could move forward without the teacher providing
me at this moment?” a next step, perhaps some encouragement and a short
check-in are all the help the student needs.

“How can | provide Using target and proficiency language reminds students of
feedback to get students | the learning goal.

closer to hitting the
learning target?”
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By the end of the unit, you should be able to do the following.

d Identify, name, and draw points, lines, segments, rays, and planes.
Q Identify and describe the three undefined terms of geometry.

a Apply basic postulates about points, lines, and planes.

d Name, measure, and classify angles.

Q Identify congruent, adjacent, vertical, complementary, and supplementary angles, and
linear pairs.

a Find measures of pairs of angles.

Goals:

Notes to self:
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Emergente Baslco Competente | Avanzado
Learning Targets 1 2 3 4

| can communicate using
newspaper and technology
vocabulary.

| can understand or interpret
communication using
television vocabulary and react
appropriately.

| can ask for and give
information about the news.

| can recognize and understand
when to use saber versus
conocer and correctly use

the verbs in the present and
preterite tense.

Notes and next steps:
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Educator-Friendly Feedback Student-Friendly Feedback

Standard (K-2 Next Generation Science Standard): “Analyze data from tests of two
objects designed to solve the same problem to compare the strengths and weaknesses
of how each performs” (K-2-ETS1-3).

“Your data table is well constructed, “You pulled the right information from our

but your data analysis is incomplete.” experiment to put in your table. When you
explained what the information means, you
told about what made your plant grow well.
Please tell me about what didn't help the plant
grow well."

Standard (National Standards for Physical Education—Middle School): “Demonstrate
control when performing combinations and sequences of locomotor, non-locomotor,
and manipulative motor patterns in selected activities, games, and sports.”

“Your manipulative motor pattern “When executing your throw in, make sure
during the throw-in needs that the ball goes directly over your head.
improvement. Watch the video and see | Notice that as we watch your video your hands
how you can improve your skill.” are moving around the side of your head.”
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Praise Feedhack

"You did a great job on your project.” “When I'look at your architectural design sketch,
I notice you used perspective well, but struggled
with the scale. Let's take a look together at how
o Improve.”

“Thank you for tuming in your assignment | “Your work is in on time! This is something you
onfime.” have struggled with in the past. How did you act
differently with today's assignment?”

"Excellent job with your fact fluency!” “You have done a great job increasing your fact
fluency with addition. The next step is to leam to
apply those facts to solve problems.”
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Task-Specific Feedback

Skill-Specific Feedback

life today.” (D2.His.2.3-5)

Grades 3-5 social studies standard: “Compare life in specific historical time periods to

“Your presentation showed what life in the
United States was like when the settlers
first arrived. Now go back and add a slide
about what life is like today and another
slide that compares the two.”

“You have shown what life was like for two
different historical time periods. Now it

is time to compare them. Remember that
when comparing two things, you want to
look for what is similar from them both.”

Grades 6-8 science standard: “Develop and use a model to describe the function of a
cell as a whole and ways the parts of cells contribute to the function.” (M5-LS1-2)

“You have the mitochondria, but don't
show it working with other cell parts.
What could you add to demonstrate how
it works?”

“I like that you chose to make a rough draft
on paper before building your 3-D model
of the cell. It is making your modeling skills
so much stronger, and it is a strategy that
could be used in the future.”

evidence.” (CCSS.W.11-12.1)

Grade 11 English language arts standard: “Write arguments to support claims in an
analysis of substantive topics or texts, using valid reasoning and relevant and sufficient

“Your argumentative paper on the banning
of violent video games shows you know
to talk about not only reasons why they
should be banned, but also recognize an
argument that could be made to keep
them. In the next four paragraphs, work on
developing and supporting those ideas.”

“Your writing shows your clear
understanding of claims and
counterclaims. As you develop your writing
samples, focus on supporting those claims
with evidence as well as connecting

the two.”

Grade 1 mathematics standard: “Use place value understanding and properties of
operations to add and subtract.” (CCSS 1.NBT.C.4)

“You missed problem numbers four and
five on our practice on adding two-digit
numbers. Can you revisit those problems?”

“When working with double-digit addition,
remember to think about how many cnes
you have and how many tens you have.
What do you need to do if you get

ten ones?”
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Here’s what.

4 / t(*(///(/ llee the date yot tave collectod aboul e local weatlor (/u,w'u/ e scurtneen
Jeadornt 11/(«/ /m(r' (/(»(1 u;(,z,um»/(/w/ ?71(‘ (/(1/(1 wt @ 9/,1(50/1, (/f/n Jee f/{((/ (/1»{1 /(l{(*(/ o ('m(/)/u

o mdmu'((/ Jpds U you (//uz/o/z.

So what?

(Konenther Ul & i a'nymt/(mf Wt the readers of yowr (//2(4;0/1 wnclersland the
1)[/(»2111(1/1}»11 yote e ot 'uf(/'u/, Lot at own /)/r.i/m Wl oullaes the (/'rl/mzf(mf
I,/(w(u,ms fr/ @ (/,ug()/t e, scale, labe 1)(1/ r»/ ands, and /«'1/.

Now what?

Cnt you /z/'u/ e /J/Z/« es Wl ahe //t({ma'u/,/ 97 {Zu/(lﬁ' Uhose and ﬂm'((/ yotor 1/12(1/0/1 back U
wee. ) we excdod o see your /1}((1/ /0/}0(/11(,'/./
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To be filled out by the assessor:
T: Tell what you like. What is a strength of his or her work tied to the standard or target?

| like how you. set up your proot. Youlve identified the given, all congruent parts,
and what you needed to prove.

A: Ask a question about his or her work.

How do you know the triangles are congrue.n{?

G: Give the writer an actionable suggestion.

Your structure looks qood but in order to show thot correc,pondjng ports of
cor\o]ru,en’t tr mwglec_. ore congruﬂn’c the 4r 1&1\9@% need 4o be proved corxgruen’t
first. Next, find the theorem that proves the J('l'laﬂqle“: 10 be congr uent ond maoke
sure 1o include that in your pr ook

To be filled out by the writer:
You're ith: Self-assessment—what comes next?

Thonk Yo | cee the ’tt’langle% ore COnSruen’t by ‘;1de—anollle—<;1de congruence. |
will adci thod to my pr’oo‘?—

Ololpaiiay g widlanl o 48 lassiuwd Lo — oz o :F,Y S

25 ax>l 0 go.SolutionTree.com/assessment

i s 3l solawl

e o9dm Ly 45 ams oo el ol s eoladas 4 3,955k 5o L slaas 5l ooliul
b Lol olao 45 05,05 oo 51,3 oolitl 890 (Sloj Yoone Ha5 slaaS aums 5,955k « 5LS!
S il o |y claliil g Lallas alie U S snnliv 1) (6 pdy com ien Olalocil
(e Sady j9el L pais |y SLaSs 9,655l cales 10 g 0510, Bl 4 aSy
L RSk g olaibiwl Blaal wilss oo p)lez (S plae o)lidg aly yo (il 38 Jsbo 5o
el 00l ools Lis T /¥ S j0 a5 jshailes cwans [ 3 Jles 69,



o> OIS (lp KiuzgS | AY

Standard 1: “Demonstrate command of the conventions of standard English
capitalization, punctuation, and spelling when writing” (L.2.2).

a. Use correct capitalization.

b. Use commas and quotation marks to mark direct speech and guotations from a
text.

c. Use acomma before a coordinating conjunction in a compound sentence.

d. Spell grade-appropriate words correctly, using references as needed.
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Standard 2: “Acquire and accurately use Agriculture and Natural Resources sector
terminology and protocols at the career and college readiness level for communicating
effectively in oral, written, and multimedia formats.”

2.1 Recognize the elements of communication using a sender-receiver model.
2.2 ldentify barriers to accurate and appropriate communication.
2.3 Interpret verbal and nonverbal communications and respond appropriately.

2.4 Demeonstrate elements of written and electronic communication, such as
accurate spelling, grammar, and format.

2.5 Communicate information and ideas effectively to multiple audiences using a
variety of media and formats.

2.6 Advocate and practice safe, legal, and responsible use of digital media
information and communications technologies.
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Standard: “Solve real-world and mathematical problems invelving the four operations
with rational numbers.”

Areas for Growth Proficiency Evidence of Mastery

« Add, subtract, multiply,
and divide integers.

« Add, subtract, multiply,
and divide fractions.

Evaluate expressions
using the order of
operations.

Understand and evaluate
absclute value problems.

Solve word problems
using the four operations.

Teacher Comments:

Student Comments:
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Name:
Title of Work:
Standard:

Self-assessment

Strengths:

Areas that need strengthening:

Teacher feedback

Strengths:

Areas that need strengthening:

My plan for improvement:
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Statement Question

“Remember that our learning targetis...” | “What is the target you are working
toward?”

“You missed a comma in this sentence.” “Canyou find a spot where a comma might
be necessary?”

“] see you are stuck on problem four.” “Where are you getting stuck, and what
questions do you have?”

“You need to work on your timing when “I notice that the ball isn’t taking a smooth

releasing the bowling ball.” path to the lane. Why do you think that is
happening?”
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| ’P”mﬁs)ﬂ Pb(NO,) H T=Po L.
: 374 -
3. PbNOH4,T=Pb, T+4,NO,
LS _—
O.Cgé‘fog t,L ., Imol Pb; NO, ., 1Mol KNO, , I40.40NO {E ag_mofhmé
30s.dgt, L ImolPby NO,  Imol RNO,
=291=3
L=137
N=14
O=llo=3
4. 3159 Pb , Imol Pb  amol PbsO =C3'{°a"£l f;;ﬁgs
30139 Pb  ImolPb -
Pb=301.3
S. ANaHCO, —> NaCO, + H0 + CO,
4009 NoHCO, y 1Ml NaHCO, 5 IMOICO;  y 449 CO, EO'_SS_% C_Pa
B4gNaHCO,  amolNaHCO, ImolCOo, =
No=33
H=I
Cc=1a
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3. Explain, in terms of the Kinetic Molecular Theory (at the molecular level), why adding
more particles of gas to a flask with a set volume would affect the pressure of
the gas.

¢ Yyou were to add more porticles of gas to o fask with a set volume, the
pressure ewc%d 1r1€.:;eo&e\be.caw%e it Se.’ts ’tigh’ter and the par ticles would then ke
hiHinq{hM de; mw{?as’ter/ ok the same time.

ﬁ’éz‘m;&m,:.ui{y fardor o fastor. PHorre motecules would not make
Jparticles move fasler. So, what otter facloy coudld cause the T¢7

4. Name the two factors, related to molecular movement, that cause gases to
exert pressure.

How ‘r‘qs;’f ond how hard the particles hit.

— /

(/7%’:14* e (ﬂe(@ telaled - one arolitenr. %x&ﬂiz-b—mowéry /M?ﬂ‘[feﬁi
would collite kairder, so-weire lootg (o1 one mote faclot.
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Key

dNais+andClis-
dH end of H,O partially + and O end of H,O is partially -

Beaker 1
3 All Na and Cl attached

d Water molecules floating freely

Beakers 2-4
3 Water molecules oriented correctly

d Na and Cl being pulled apart one at a time (not all at once)

Beaker 5
3 All Na and Cl molecules pulled apart
A All Na and Cl molecules surrounded by multiple water molecules

d Extra water molecules shown
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Question Answer Next Steps

Does my feedback elicit a
productive response?

Does my feedback identify
what’s next for the learner?

Is my feedback targeted to
each learnet’s level?

Is my feedback strength
based?

Does my feedback cause
thinking?
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| have the feedback. Now what?

1. lsit written? Read it, and read it again. Is it spoken? Listen and ask
clarifying questions.

Identify the strengths indicated in your work.
Find the next steps that were identified.

Gather resources.

L S I

Take action!
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Practice Assighments

Description of practice What were you practicing? How well did you
assignment understand it? Do you need more practice?

In-Class Assignments

Assignment:

Skill I was working toward:

Reflection on my understanding:

Assignment name:

Skill I was working toward:

Reflection on my understanding:

Assessments
Assessment title; feedback | Reflection: What are your next steps for learning? (This
received needs to be more than, “l should have studied more.”)
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Standard: “Describe social and economic influences on United States’ expansion prior to
World War 1.” (5.13)

Feedback From
Learning Target Progression Teacher Next Steps

| can locate on a map states, capitals, and
important geographic features west of the
Mississippi River.

| can identify major groups and individuals
involved with the Westward Expansion,
including farmers, ranchers, Jewish
merchants, Mermons, and Latinos.

| can explain how the United States
acquired Alaska and Hawali.

| can analyze the impact of closing the
frontier on American Indians’ way of life,

| can explain how the Spanish-American
War led to the emergence of the United
States as a world power.

| can explain how the development of
transcontinental railroads helped the United
States achieve its Manifest Destiny.
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What the code means

What | do now in class

What to log as next steps

you read all the words
on the page? Did you
have pride in your
attempt at doing the
task at hand? Did you
understand how to
accomplish the task?
See me to answer these
questions.

Teacher (for my later reference on
code What | log (in bold) An example (in bold) the summative)
FD Follow directions: Did

* (asterisk)

Mr. Foster saw a simple

Fix all errors by

Log the specific errors |

the guestion

support your claim.

Struggle: | struggled
to use direct text
evidence and/or to
answer the question.

evidence to answer the
question on the back
of this page.

“Lennie was happy
when he died.”

next to grammar error—one writing the sentences made and how to fix them.
aline: that you should know correctly on the back If I am not sure how to fix
grammar how to fix. of this page. it, ask Mr. Foster. Look at
mechanics | syruggle: | did not authors’ message the specific grammatical
remember and use versus author’s er.mrs | made and how
grammar rules | message (plural I fixed them in the past.
learned; | did not possessive) before | do my summative
proofread my work writing.
before submitting it.
¥ :purpose | Mr. Foster saw you use | Act as a consultant to | In my summative writing,
text evidence to answer | help others fix their A? | remember to use specific
the guestion clearly. codes. details (probably from
Strength: | can be ““Hi Julio. You might the text) to answer the
specific about details | want to add how question clearly.
from the text to George made Lennie
help me answer the think happy thoughts
question. before his death.”
A?: Purpose | Mr. Foster did not see Read three students’ Include specific text
and you use word-for- papers that have the details and be sure | am
answering word text evidence to heart code; add text answering the questicn on

my summative writing. If
| need to, write the topic
sentence and then show
Mr. Foster to be sure | am
answering the question.
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error that requires a
thirty-second chat.

Boxed word | Mr. Foster saw some Record all boxed Use strong diction on the
or phrase: basic language choices | words in the table on summative. Specifically,
style, that betray your the back of the yellow | lock at my adjectives
diction, or brilliant brain. sheet. Amend these and make sure they are
syntax Struggle: | struggled words to show Zou. proﬂc!ency-(ljevel q.uf.al!ty_.
to be specific and E)an .use stron:}; iction. gattlmty, an Zpe;c; |<:|ty.d
mature in my word ohntzseapfonhe (|>r bo(:tusi_wor s like good,
choice—mostly with other device for help. ad, or things.
adjectives. Things = Elements
See me You are not in Follow up by doing Consult with Mr. Foster
See me w/ trouble. & :ha,:teveryotfkant;j . %ulng;ew?on wo;khme.
classmate You made a specific r. Foster talk about in ake the changes he

your thirty-second
chat.

suggests.

Classwide Feedback

Directions:

the next.

Purpose:

+ Please remember transiticns and use the clock poster to help you move from ene idea to

« Underline the first word in each sentence. Read them aloud. Label each first word's part of
speech. What do these data tell you about your syntax?

« During work time today, do these things in this order:
1. Read every word in the Comment Codes boxes.
2. Logyour feedback on FeedForward. Consult with Mr. Foster if this is confusing.

3. Score yourself on purpose and style and write your numbers here. Mr. Foster
measured your learning with words. Use his words to measure your learning with our
four-point scale. Staple this page to your diction amendments if you have any and
turnitin.

Style:

4. Finish your Frankenstein background writing by using this feedback.
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Instructions: After receiving feedback on a formative assessment, log your performance
below. Bring this document to summative assessment game day to use as a cheat sheet
to help you succeed.

Task Due Date Submission Date

Success to Repeat | Struggle | Had How to Fix It
Learning Target | on Summative This Time for Summative
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Is your feedback
effective?

< Is it strength based?
* Does it relate to the target?

ﬁ Does it provide a next step?
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Directions: Self-assess against the rubric. Follow these three steps.

1. Use a highlighter to show where you have had success.

2. Circle areas that do not yet meet standards or areas that need improvement.

2. Below the rubric, record your next steps for your writing.

Standard: “Write arguments to support claims with clear reasons and relevant

evidence.” (W.6.1)

4—Advanced 3—Proficient 2—Basic 1—Emergent
Introduced the claims | Introduced the claims, | Introduced Introduced the
in a way that was very | acknowledging the claims, claims. Provided

clear, acknowledging
and distinguishing
the claims from
alternative or
opposing claims.
Used logical
reasoning and
credible sources.
Showed a deep
understanding of the
topic. Writing was
formal, clear, and
engaging. Conclusion
could lead the reader
to take action.

and distinguishing
the claims from
alternative or
opposing claims.
Organized the
reasons and evidence
clearly and logically.
Used evidence that
was logical, relevant,
and credible. Writing
was formal and clear.
Provided a conclusion
that followed and
supported the
arguments.

acknowledging
alternate or
opposing
claims. Provided
evidence that
was sometimes
relevant, logical,
and credible.
Writing was
mostly formal and
clear. Provided a
conclusion that
followed the
arguments.

evidence that
was irrelevant or
illogical or cited
sources that were
not credible.
Struggled to
maintain a formal
style. Provided a
conclusion that
related to the
arguments.

My plan for next steps:
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Unit: lgotit |lgotit |Ifwrong, If wrong What | got wrong and
right. wrong. | simple mistake | (error), needs what | learned from it
more teaching

Learning target one: | can produce equivalent fractions.

Question1 | X

Question 2 X X | need to remember
that if | multiply

the numerator, |
need to multiply the
denominator by the
same number.

Learning target two: | can add fractions with unlike denominators.

Question 2 X X | didn’t simplify my
fraction at the end.

Question 4 X X | have trouble adding
the fractions when they
are mixed numbers. |
need more help with
this. | am going to ask
for more practice.

My plan for next steps: During choice time tomorrow, | will make sure to work on adding
mixed numbers.
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Standard: “Develop a model to represent the shapes and kinds of land and bodies of
water in an area.” (NGSS 2-ES552-2)
Learning Target Evidence of Mastery Next Steps
| can |ocate | found fwo different || am goin
landforms on a map. |plateavs on a map of |to Jook for a
the United States. different [andform
next—peninsvlas.
| can |ocate bodies | found the five Great | | found other bodies
of watet on a map. Lakes and [abeled of water but don’t
them in the map of | know their names.
the United Stafes. | am going to look
those vp next.
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Coach:

Student:

Learning target:

My favorite part of your work is:

The part of your work that could use improvement is (as it relates to the target):

Your next step should be:
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My friend says. ...

My teacher says. ...

I say ...

My next steps are. ..
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